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BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 
December, 2011 

ELECTIVE COURSE : ECONOMICS 
EEC-03 : ELEMENTARY STATISTICAL 

METHODS AND SURVEY TECHNIQUES 

Time : 3 hours 	 Maximum Marks : 100 
Note : Attempt any two questions from section A, four from 

section B and two from section C. 

SECTION - A 

1. Briefly describe sampling and non-sampling 20 
errors. What are the sources of non-sampling 
error ? In how many ways a simple random 
sample of size 3without replacement can be 
selected from a population of size 10 ? 

2. What do you mean by graphical representation 20 
of data ? Explain different types of diagrams. 

3. Define various measures of central tendency. 20 
What factors would yolikeep in mind in choosing 
an appropriate measure of central tendency ? 
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4. 	Obtain the regression equation of yield of rice (Y) 20 
on water (X) from the data given below. 

Water (In 
inches) (X) 

12 18 24 30 36 42 48 

Yield (In 
tons) (Y) 

5.27 5.68 6.25 7.21 8.02 8.71 8.42 

Estimate the most probable yield of rice for 40 
inches of water. 
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SECTION - B 

5. What are the components of time series ? Explain 12 
the method of moving averages and its use in time 
series analysis. 

6. Explain the concepts of sample space and events. 12 
State and explain Bayes's theorem. 

7. Explain the concept of standard error ? Write 12 
down the formula for the standard error of mean. 

8. The following sample of 8 observations is from a 12 
very large population. 

12.1, 11.9, 12.4, 12.3, 11.9, 12.1, 12.4, 12.1 

(a) find sample mean 

(b) estimate population standard deviation 

(c) Construct a 95% confidence interval for 
mean. 
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9. 	In order to compare the knowledge of statistics of 12 
students of section A and section B in class XII of 
a school a random sample of 50 students from 
each section obtained. The same examination 
was administered to students of both the sample. 
An analysis of scores yielded the following results. 

Sample 1 	 Sample 2 

(Section A) 	(Section B) 

n1  = 50 	 n2  = 50 

x1

- 

=81.4 	 x

- 

2=84.5 

s 1 = 4.6 	 s2  -- 4.0 

(Where s stands for sample standard deviation) 

(a) find 95% confidence interval for µ1  —112 
 (where 11 stand for population mean) 

(b) determine whether µ1  is significantly 
different from I.L2  using 5% level of 
significance. 

10. Consider the following equation 	 12 

yt  = 84.26 + 5.8 x (Origin 1998, x unit =1 year) 

shift the origin to (i) 1995 and (ii) Ist Jan. 1999. 
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SECTION - C 

11. In how many ways can a team of 5 boys, 5 girls 	6 
and 2 teachers can be formed from a group of 
15 boys, 12 girls and 4 teachers ? 

12. A class consists of 80 students of which 25 are 	6 

girls. Again 10 of the 80 students are rich while 
remaining are poor ; 20 of them are tall while rest 
are short. What is the probability of selecting a 
tall rich girl ? 

13. Write a short note on inter-quartile range. 	6 

14. Construct multiple bar diagram from the 	6 

following data. 

State Birth Rate Death Rate Growth Rate 
Assam 38.5 17.8 20.7 
Gujarat 40.0 16.4 23.6 
Kerala 31.7 9.0 22.1 
Punjab 34.2 10.4 23.8 
West Bengal 27.8 10.6 17.2 
India 36.9 14.9 22.0 
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1. 	mrcraai Ifaz4 74 AT-Ali-v.1aq Ifez4 	TOct.  auI.1 20 
7I th-mrcplai Ard*k4la qzrr ?f 	-T1-0 

37*-7 3 Vi rem! Tif—d7P-TITT9' al; 1k 	 qlfcfc9ch •51170 
3-1T-*-7 10 • -1* TITIFEZ 	rchqf 	-ichcit t? 

3TA-4t.  f9.--trur X13 r rr TP:rej -W f4fiT9 20 
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3. 	"kql-zi Tr-fu faffiN  	1:iftiirrErff 	i t.-& 20 
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'ezfri -14 .44? 
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4. 	14-1 tqc-i a1' 	*1 AM (X) mg -c1110 (Y) t117-47 t 20  

441411 (.14-1 crtui t 311r7 WrE4R : 

,ii o ( i-cil 
12 18 24 30 36 42 48 

11)(X) 

irdr-{ (d-il 
5.27 5.68 6.25 7.21 8.02 8.71 8.42 

14) (Y) 

40 	z1 t zto fc.) 	TrlffiT TilTifq7 t-FaR 

V-*1 
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5. -17ft tida, 4114 ? TrfaTrri Trr%zr .T1 fi f 12 
au 1 -4-r--473-11-{ chic.) rtrft reiq; (1 0 1 	-p:rk 771)-1-r 
Tcrtz --1-F47 

6. -5rf-d-OTtiftwcrie.-113ff  	 12 
4-3-44zr 	0e4c11 	TCTEZ WThr-WR 

7. 4-11-111 Are 	4011C-411 	-Frtz 	Trrar 	1-111 011 	12 
Are. Wr 	a f0f{g71 

8. 8 "*74 	tqo 3r1TO A7q f49-a.  TITriTz -4 TT 12 
fwzrr TIT 

 12.3, 11.9, 12.1, 12.4, 12.1 

(a) 3ri—o74 Tirezr quo 	

(b) TriTftz 4-11-1 ,41 fqq-07 	3W09 

(c) TP-7:{* k 	 95% raqcw-qoi 3t -dM• WiTR 
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9. 	 XII t 31TITTIT 3t 3TTITT1131** 12 

fTgrfORi t 	 t. 	TY9T roki ,A-At 

3l-1%TM *f 50 fITIIRIA 'WE qiir-crc9ch 31f774 31R1 fWEIT 

+1 X11 I 't-9 -9-f(Tqvil 	fq-Errfi*f .T1 *pill 1-itUt 'A 71 I 

	 P-iHrOrtgl 4Ruii4-1). 	'SIT : 

311-TO 1 	 7r7-0 2 

(3-1T1FT A) 	(3-1TITTT B) 

n1 = 50 	 n2 = 50  

x1=81.4 	 x2=84.5 

s 1 = 4.6 	 s2  = 4.0 

(zi6 s tf 3-Trvrzi 3ffa-0 HMI roCc101 t) 

(a) Ri  — 112  t r 	Y. 95% eRaR-4idi 3td-{1 

(411,1, 3TR-FT TriTfisz -nrttf t) 

(b) 5% TIT9fTT-17R 314f t-W7tri W--4 

	

qzrr 11,1 , 11,, 17ffTlitT f 	t TIT .16 ? 

_qcf 	4)tuf -CR 	14.11-■71 : 	 12 

Yt = 84.26 + 5.8 x 	f4s 1998, x T*11=1 citi) 

	 fq's 	P-14.iror6cf /TT -A-F77 : 

(i) 1995 AT (ii) Ist 79-4ft, 1999. 
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11. 15 W4ef, 12 olict,41 at-{ 4 aTb7170 Trzy A, 5 

5 osicbtil 41{ 2 339474 	c4-114* -r-*"A 

fit? 

12. T• "LIT -14 80 eisuell t I  	25 c144, ,it t 7: 	6 

80 f4Erlf*I1 	10 '491 	*E17111 fffqi I 

20A 31 11 z))* t I (-;e4. 49.1 5-4-4. *.  

	ITT t? 

13. 3ta'Vqq2.t-  tfr7TIT ITT TO-cr -Id f -rrgrq I 	 6 

14. (go 3l-  41 Wg (multiple) .4fT(siii--ci1 -49TR : 	6 

Tr7:1.  A-41qt c 	at 

3-717 38.5 17.8 20.7 

40.0 16.4 23.6 TAkid 

31.7 9.0 22.1 to 

34.2 10.4 23.8 liA lei 

27.8 10.6 17.2 ti kizi+4 ciillo 

ITR7 36.9 14.9 22.0 
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